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1) —repeatifif], repeat S while B
12) —MorfliIMiER], for (S;;B;S,) S,

Production Syntax Rule

S -> repeat S1 while B Sl.next = newlabel()
B.true = newlabel()
B.false = S.next
S.code = label(B.true) || Sl.code
|| label(si.next) || B.code

S -> for (S1; B; S2) S3 Sl.next = newlabel()

B.true = newlabel()

B.false = S.next

S2.next S1.next

S3.next = newlabel()

S.code = Sl.code
|| lable(Si.next) || B.code
|| lable(B.true) || S3.code
|| label(S3.next) || S2.code
|| gen('goto', S1.next)
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{ backpatch(B; .falselist, M .instr);
B .truelist = merge( By .truelist, By. truelist);
B falselist = Bs.falselist; }

{ backpatch(B, .truelist, M.instr);
B.truelist = Bs.truelist;
B.falselist = merge( B, .falselist, By.falselist); }
{ B.truelist = B,.falselist;
B.falselist = By .truelist; }
{ B.truelist = By.truelist,
B .falselist = B, .falselist; }
{ B.truelist = makelist(neztinstr);
B.falselist = makelist( nextinstr + 1);
emit('if’ Ej.addr rel.op E,.addr 'goto _');
emit('goto '); }
{ B.truelist = makelist(nextinstr);
emit('goto '); }
{ B.falselist = makelist(nextinstr);
emit('goto '); }

{ M.instr = nextinstr; }

Figure 6.43: Translation scheme for boolean expressions




P268 6.7.1

1) a==b && (c==d || e==f)
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B.t= {102, 104}
B.f= {101, 105}

B.t= {102, 104}
B.f = 1105}
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M.i = 104

B.0= {104)
B’;,f'= {]_Q:S}
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== b goto 102
_(false)

== d goto _(true)
104

== f goto _(true)
_(false)
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== b goto _(true)
102

== d goto _(true)
104

== f goto _(true)
_(false)

B.t=(104}
Bf=(105)

T
B.t={102}
Bf={103}
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m 3) (a==b && c==d) && e==

Bt={104)
Bf={101, 103, 105}

Bt={102}

B.f={101,103} M.i= 104

ot D} Bt {102}
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: if a == b goto
: goto _(false)
: if ¢ == d goto
: goto _(false)
: if e == f goto _
: goto _(false)
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do {
X =y + z;
if (a>b || '(c > d)) continue;
else x = x + 1;

} while (e > £ && '(g > h || 1 > 3));

L) [ = M HE RS B T s

LO: =y + z | = tl

x = t0 | : ] (e > £f) goto L__
(a > b) goto L__ | ] (g > h) goto L__
(¢ > d) goto L__ | ] (i > j) goto L__
x + 1 |

Woydlay < M EIE# RS HS, HFa=a el 17 8L if 5

ifnot.

L2:

=y + z = t1
:= t0 : ifnot (e > f) goto
if (a > b) goto L1 if (g > h) goto L2
ifnot (¢ > d) goto L1 ifnot (i > j) goto
tl = x + 1 :
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Find that the harder | work, the more luck | seem to have.
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